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1. A ship travels 50 km on a bearing of
[image: image1.wmf]°

27

, then travels on a bearing of 
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 for 140 km.  Find the distance traveled from the starting point to the ending point. ANS: 148.66 km
2. Mark notices that the bearing of a tree on the opposite bank of a river flowing north is
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.  Lisa is on the same bank as Mark, but 428.3 meters away.  She notices that the bearing of the tree is 
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.  The two banks are parallel.  What is the distance across the river? ANS: 293.4 3m
3. A ship is sailing due north.  At a certain point the bearing of a lighthouse 12.5 km distant is N
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E.  Later on, the captain notices that the bearing of the lighthouse has become S
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E.  How far did the ship travel between the two observations of the lighthouse? ANS: 17.80 km
4. Two ships leave a harbor together, traveling on courses that have an angle of 
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between them.  They each travel 402 miles, how far apart are they?
ANS: 744.58 mi
5. Airports A and B are 450 km apart, on an east-west line.  Tom flies in an approximately northeast direction from A to airport C.  From C, he flies 359 km on a bearing of 
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to B.  How far is C from A? And on what bearing? 

ANS: 281.26 km; 
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or 
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6. A ship leaves its home port and sails on a bearing of N
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E.  Another ship leaves the same port at the same time and sails on a bearing of S
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E.  If the first ship sails at 24 mph and the second ship sails at 28 mph, find the distance between the two ships after 4 hours. ANS: 147.51 mi
7. A ship sailing parallel to shore sights a lighthouse at an angle of 
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from its direction of travel.  After the ship travels 2 miles farther, the angle has increased to
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.  At that time, how far is the ship from the lighthouse? ANS: 2.37 mi
8. A ship travels 70 km on a bearing of 
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 and then travels on a bearing of 
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for 180 km.  Find the distance of the end of the trip from the starting point.  ANS: 157.16 km
9. Two lighthouses are located on a north-south line.  From lighthouse A the bearing of a ship 3742 m away is 
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.  From lighthouse B the bearing of the ship is 
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.  Find the distance between the lighthouses. ANS: 5856.1 0m
10. Radio direction finders are set up at points A and B, which are 2.00 mi. apart on an east-west line.  From A it is found that the bearing of the signal from a radio transmitter is N 
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E, while from B the bearing of the same signal is N
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 W.  Find the distance of  the transmitter from B. ANS: 1.63 mi
1. A plane flies at 300 miles per hour. There is a wind blowing out of the southeast at 86 miles per hour from a bearing of 140°. At what bearing must the plane head in order to have a true bearing of 14°? What will be the plane's groundspeed? ANS: 342.37 mph, 27.41°

2. A plane traveling 500 mph in the direction 120° encounters a wind of 80 mph from a bearing of 225°. What is the resultant speed and direction of the plane? ANS: 526.41 mph, 111.56°
3. A plane is headed due west with an air speed of 212 km/h. It is driven from its course by a wind from due north blowing at 23.6 km/h. Find ground speed of the plane and the actual direction of travel. ANS: 213.31 km/h, 263.65°.
4. A plane flies with a heading of  N48°W and an air speed of 584 km/h. It is driven from its course by a wind of 58.0 km/h from S12.0°E. Find the ground speed and the resulting course of the plane. ANS:  631.84 km/h, N44.91W°
5. Suppose that a wind is blowing from the direction N45°W at a speed of 40 km/h. A pilot is steering a plane in the direction N60°E at an airspeed of 200 km/h. Find the true course and the ground speed of the plane. ANS: 213.87, 70.41°
6. In still air a plane has air speed 300km/h and flies on a bearing of 110°. If the wind is blowing at a speed of 100km/h from a bearing of 60°, find the actual velocity of the plane and the resulting course.  ANS: 247.86 km/h, 128°
7. Pilot Megan McCarty’s flight plan has her leaving San Francisco International Airport and flying a Boeing 727 due east. There is a 65-mph wind blowing from a 240° bearing. Find the compass heading McCarty should follow, and determine what the airplane’s ground speed will be assuming that its speed with no wind is 450 mph. ANS: 505.12 mph, 94.14°
8. A ship heads due south with the current flowing from a bearing of 135°. Two hours later the ship is 20 miles in the direction 30° west of south from the original starting point. Find the speed with no current of the ship and the rate of the current. ANS: 13.66 mph, 7.07 mph

9. An airplane is flying on a bearing of 285° at 480 mph. A wind is blowing from a bearing of 85° at 30 mph. Find the actual speed and direction of the airplane. 

ANS: 508.29 mph, 283.84°
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